

TWO NEW EXPLICIT FORMULAS FOR THE BERNOULLI NUMBERS

Sumit Kumar Jha

International Institute of Information Technology, Hyderabad, India kumarjha.sumit@research.iiit.ac.in

Received: 3/16/19, Accepted: 2/21/20, Published: 3/6/20

Abstract

We give two explicit formulas for the Bernoulli numbers, one in terms of the Stirling numbers of the second kind, and the other in terms of the Eulerian numbers. To the best of our knowledge, these formulas are new. We also derive two additional formulas that are likely already known.

1. Main Results

Definition 1. The *Bernoulli numbers* B_n can be defined by the generating function

$$\frac{t}{e^t - 1} = \sum_{n \ge 0} \frac{B_n t^n}{n!},$$

where $|t| < 2\pi$.

There are many explicit formulas known for the Bernoulli numbers [1, 2]. Discussions on Bernoulli and Euler polynomials, and their generalized versions, can be found in [3], [4], and [5]. Here we prove the following formulas.

Theorem 1.1. We have

$$B_{r+1} = \frac{(-1)^r \cdot (r+1) \cdot 2^r}{2^{r+1} - 1} \sum_{k=1}^r \frac{S(r,k)}{k+1} (-1)^k 2^{-2k} \frac{(2k-1)!}{(k-1)!},$$
(1)

$$B_{r+1} = \frac{(-1)^r (r+1)}{2^r (2^{r+1}-1)} {2r \choose r-1} \sum_{l=1}^r (-1)^l {\binom{r}{r-l} \binom{r-1}{l-1}},$$
(2)

$$(-1)^{r-1}B_r = \sum_{k=1}^r (-1)^k \frac{S(r,k)}{k+1} \cdot (k-1)!,$$
(3)

and

$$(-1)^{r-1}B_r = \sum_{l=1}^r \left\langle {r \atop r-l} \right\rangle \frac{(-1)^l}{l \cdot {r+1 \choose l}},\tag{4}$$

INTEGERS: 20 (2020)

where B_{r+1} is the Bernoulli number, S(r,k) denotes the Stirling number of the second kind, and the $\langle {r \atop r-l} \rangle$ represent the Eulerian numbers.

Proof. Our proof of (1) and (2) relies on the following integral representation for the Riemann Zeta function

$$\zeta(s) = \frac{1}{\pi(2-2^s)} \int_0^\infty \frac{x^{-1/2} \mathbf{Li}_s(-x)}{1+x} \, dx,\tag{5}$$

which is valid for all $s \in \mathbb{C} \setminus \{1\}$. Here $\mathbf{Li}_s(-x)$ is the *polylogarithm function*. The above result is derived using the Ramanujan's master theorem in the appendix. The same can also be obtained from formula 3.2.1.6 in the book [6].

The integral representation (5) can be used to obtain

$$\zeta(0) = \frac{1}{\pi} \int_0^\infty \frac{x^{-1/2} \mathbf{Li}_0(-x)}{1+x} \, dx = \frac{-1}{2}.$$

Also,

$$\zeta(-r) = \frac{1}{\pi(2-2^{-r})} \int_0^\infty \frac{x^{-1/2} \mathrm{Li}_{-r}(-x)}{1+x} \, dx.$$

We use the following representation from [7]

$$\mathbf{Li}_{-r}(-x) = \sum_{k=1}^{r} k! S(r,k) \left(\frac{1}{1+x}\right)^{k+1} (-x)^{k}, \tag{6}$$

which can be easily proved using induction on r.

Now, we can deduce equation (1) from the following steps:

$$\begin{split} \zeta(-r) &= \frac{1}{\pi(2-2^{-r})} \int_0^\infty \frac{x^{-1/2}}{1+x} \mathrm{Li}_{-r}(-x) \, dx \\ &= \frac{1}{\pi(2-2^{-r})} \int_0^\infty \frac{x^{-1/2}}{1+x} \sum_{k=1}^r k! S(r,k) \left(\frac{1}{1+x}\right)^{k+1} (-x)^k \, dx \\ &= \frac{1}{\pi(2-2^{-r})} \sum_{k=1}^r k! \cdot S(r,k) \cdot (-1)^k \cdot \beta \left(k + \frac{1}{2}, \frac{3}{2}\right) \\ &= \frac{1}{\pi(2-2^{-r})} \sum_{k=1}^r \frac{1}{k+1} \cdot S(r,k) \cdot (-1)^k \cdot \Gamma(k+1/2) \cdot \Gamma(3/2) \\ &= \frac{1}{\pi(2-2^{-r})} \sum_{k=1}^r \frac{1}{k+1} \cdot S(r,k) \cdot (-1)^k \cdot \frac{\Gamma(2k)}{\Gamma(k)} \cdot 2^{1-2k} \cdot \frac{\pi}{2} \\ &= \frac{2^r}{2^{r+1}-1} \sum_{k=1}^r \frac{S(r,k)}{k+1} (-1)^k 2^{-2k} \frac{(2k-1)!}{(k-1)!}, \end{split}$$

and the fact that $\zeta(-r) = (-1)^r \frac{B_{r+1}}{r+1}$. Here, $\Gamma(\cdot)$ and $\beta(\cdot, \cdot)$ are the Gamma and Beta functions respectively.

Another representation for $\operatorname{Li}_{-r}(-x)$ is the following from [8]:

$$\mathbf{Li}_{-r}(-x) = \frac{1}{(1+x)^{r+1}} \cdot \sum_{j=0}^{r-1} \left< \binom{r}{j} \cdot (-x)^{r-j}.$$
 (7)

Now, to derive equation (2) we follow the steps below

$$\begin{split} \zeta(-r) &= \frac{1}{\pi(2-2^{-r})} \int_0^\infty \frac{x^{-1/2}}{1+x} \mathbf{Li}_{-r}(-x) \, dx \\ &= \frac{1}{\pi(2-2^{-r})} \int_0^\infty \frac{x^{-1/2}}{1+x} \cdot \frac{1}{(1+x)^{r+1}} \cdot \sum_{j=0}^{r-1} \left\langle r \atop j \right\rangle \cdot (-x)^{r-j} \, dx \\ &= \frac{1}{\pi(2-2^{-r})} \sum_{j=0}^{r-1} (-1)^{r-j} \left\langle r \atop j \right\rangle \cdot \beta \left(r-j+\frac{1}{2}, j+\frac{3}{2}\right) \\ &= \frac{1}{\pi(2-2^{-r})} \sum_{j=0}^{r-1} (-1)^{r-j} \left\langle r \atop j \right\rangle \cdot \frac{\Gamma(r-j+1/2) \, \Gamma(j+3/2)}{\Gamma(r+2)} \\ &= \frac{1}{\pi(2-2^{-r})} \sum_{l=1}^r (-1)^l \left\langle r \atop r-l \right\rangle \cdot \frac{\Gamma(l+1/2) \, \Gamma(r-l+3/2)}{\Gamma(r+2)} \\ &= \frac{1}{\pi(2-2^{-r})} \sum_{l=1}^r (-1)^l \left\langle r \atop r-l \right\rangle \cdot \frac{2^{-1-2(r-l)} \sqrt{\pi} \, \Gamma(2(r-l+1))}{\Gamma(r-l+1)} \\ &= \frac{1}{2^r(2^{r+1}-1) \cdot (r+1)!} \sum_{l=1}^r (-1)^l \left\langle r \atop r-l \right\rangle \frac{(2l-1)!}{(l-1)!} \cdot \frac{(2r-2l+1)!}{(r-l)!} \\ &= \frac{1}{2^r(2^{r+1}-1) \cdot (r+1)!} \sum_{l=1}^r (-1)^l \left\langle r \atop r-l \right\rangle \frac{(r-1)}{(2r-1)} \cdot \frac{(2r)!}{(r-1)!}, \end{split}$$

and use the fact that $\zeta(-r) = (-1)^r \frac{B_{r+1}}{r+1}$. To prove (3) and (4), we use the integral representation

$$\zeta(s+1) = \frac{-1}{s} \int_0^\infty \frac{\mathbf{Li}_s(-x)}{(x)(1+x)} \, dx,$$
(8)

and the representations (6) and (7). The above equation can be derived by the result in the appendix.

References

[1] H. W. Gould, Explicit Formulas for Bernoulli numbers, Amer. Math. Monthly 79 (1972), 44 - 51.

- S. K. Jha, A new explicit formula for Bernoulli numbers involving the Euler number, Mosc. J. Comb. Number Theory 8 (2019), 385–387.
- [3] D. S. Kim and T. Kim, A note on higher-order Bernoulli polynomials, J. Inequal. Appl 111 (2013).
- [4] D. S. Kim and T. Kim, Bernoulli basis and the product of several Bernoulli polynomials, Int. J. Math. Math. Sci. (2012), Art. ID 463659, 12 pp.
- [5] D. S. Kim and T. Kim, Some identities of higher order Euler polynomials arising from Euler basis, *Integral Transforms Spec. Funct.* 24 (2013), 734–738.
- [6] Y. A. Brychkov, O. I. Marichev, and N. V. Savischenko, Handbook of Mellin Transforms, CRC Press, Boca Raton, FL, 2019.
- [7] S. E. Landsburg, Stirling numbers and polylogarithms, preprint, 2009. Available at http://www.landsburg.com/query.pdf.
- [8] L. Lewin, Structural Properties of Polylogarithms, American Mathematical Society, Providence, RI, 1991.
- [9] L. Lewin, Polylogarithms and Associated Functions, North-Holland, Amsterdam, 1981.
- [10] G. H. Hardy, Ramanujan. Twelve Lectures on Subjects Suggested by His Life and Work (3rd ed.), Chelsea, New York, 1978.

Appendix

Theorem 1.2. For all $s \in \mathbb{C} \setminus \{1\}$, and 0 < n < 1, we have

$$\int_{0}^{\infty} x^{n-1} \frac{\mathbf{Li}_{s}(-x)}{1+x} dx = \frac{\pi}{\sin n\pi} (\zeta(s) - \zeta(s, 1-n)), \tag{9}$$

where $\zeta(s, 1-n)$ represents the Hurwitz zeta function.

Proof. Let

$$H_n^{(s)} = \sum_{k=1}^n \frac{1}{k^s}$$

be the generalized harmonic number. Then, we have the following generating function from [9]:

$$\frac{\operatorname{Li}_s(x)}{1-x} = \sum_{n=1}^{\infty} H_n^{(s)} x^n,$$

for |x| < 1. We can also write

$$\frac{\mathbf{Li}_s(-x)}{(1+x)} = \sum_{n=1}^{\infty} H_n^{(s)}(-x)^n.$$
 (10)

We have the following explicit form:

$$H_n^{(s)} = \zeta(s) - \zeta(s, n+1).$$
(11)

Next, we use Ramanujan's master theorem from [10], which is,

$$\int_0^\infty x^{n-1} \{ \phi(0) - x\phi(1) + x^2\phi(2) - \dots \} \, dx = \frac{\pi}{\sin n\pi} \phi(-n),$$

where the integral is convergent for $0 < \mathbf{Re}(n) < 1$, and after certain conditions are satisfied by ϕ . Now, using Ramanujan's master theorem with equations (10) and (11) gives us required equation (9).